—J [

PR AR U

B¥]

A B E G H N
HEIbRE 1) B | RMHE L BAR WEESERE | HEl | ABTE ;; £ | EAL
IR [ 11 BT JE B = B iR IR ST I
A HEICE 3—0 3—0 3—-0 3—0 3—-0 3—0 3—0 14 1
AR O O O O O O O
B BE v 0—3 3—0 3—0 3—0 3—-0 3—0 3—1 13 2
fif] (L x @) @) 0] @) 0] @)
C U= 0—3 0—3 1—3 3—2 0—3 3—1 1—3 9 4/5 7
J=Nijnd X X X @) X @) X
D i KMEL] 0—3 0—3 3—1 3—0 3—-0 3—0 3—1 12 3
TR X X @) @) O @) @)
E  FiEj 0-—3 0—3 2—3 0—3 1—3 3—1 3—1
[ARYs] X X X X X e o) 9 5/4 5
F st | 0—3 0—3 3—0 0—3 3—1 3—0 3—0 11 4
AR X X @) X @) ®) ®)
G HER 0—3 0—3 1—3 0—3 1—3 0—3 1—3 7 8
R X X X x X X x
H BT 0—3 1-3 3—1 1—3 1—-3 0—3 3—1
[#A] 1Ly X X O X X X @) 9 4/4 6
SEREREE 168 HEIE 241 EAdm 3L EXKMAELL AR MEFRR 561 BER
Igll * _|_: o) — N
FRFREEY —T [ZF]
B C D E F G H N
eSS WL T PRaR | FOEEERE| BEECE | Wk T | AERE %m%ﬁ%?éz £ | AL
i 1L JE IR Hijs] Jaiit [ L1 Hfs; T
A BE 2—3 2—3 1—3 3—0 3—0 2—3 3—0 10 5
] 1L X X X o) O X (@)
B LT 3—2 3—2 0—3 3—2 3—1 0-—3 3—1 12 3
= O @) X @) O X O
C WK 3—2 2—3 1—3 3—1 3—1 2—3 3—0 11 4
AR O X X @) O X O
D #NHE TPl 3—1 3—0 3—1 3—2 3—0 3—0 3—0 14 1
trm 0] (@) O O @) ®) O
E ST 0-—3 2—3 1-3 2—3 3—2 3—2 3—1 10 6
F5EL X X x X @) ®) O
F Wk 0—3 1—-3 1—3 0—3 2—3 1—-3 3—0 8 7
[ (L X X X X X X O
G &EpEE 3—2 3—0 3—2 0—3 2—3 3—1 3—0 12 )
e @] O @) X X (@) O
H [fIL#pE#E] 0—3 1-3 0—3 0—3 1-3 0—3 0—3 7 8
[ 1L X X X X X X X
2EEIREE 16 FHIERR 20 AEEE M EELF AT BHER 5 FhE




PRAMFE)—Y [BF]

A B o} D E F G H
MEAERE | BT | BERGE EAKEL|  RE | R | THIE | KTRE
(EHR) ([ 1) (B & 5) () (E5HR) (lA) (B
ESEWE |JRETE| AR |[MHBEIL| 25K |MUFR|LEHEE | ABITE
0=3:19) (& 5) (E1R) (lrm) (&B) (e 1) /=) (L)
HHT |SUSE | ABEh | WIE |FlUkmE RHE HER AR
(5 &) () (A E) (S1R) (e 1) (A E) (E51R) ()
@ e ® 7e O ) ® Sa
AfH || mmes [ e | Fo R |IE 4 E#f s | pe (moe| G52 (I 4
Gt | mro | o | BR G | osmo | g | BR
@ ©)
HZ=E bR 3-0|3-0]| 4 1 LA 3—1|3-1 4 1
(E1R) (@)
@) @)
S5 0-3 3-o| 3 2 B 1-3 3—2| 3 2
=219 =159,
©) ®
A 0o-3|o-3 2 3 I HpEE | 1—-8 | 2—3 2 3
[/N=)) ([ (L)
[©) @ ©) ®e ® @ ©) S®e
B BivE e T | e e (B G F #H el LRl kmo | Sgw (MBI
G | o) | u | BR G | G | ong | BR
©) )
BE Ve 3-0|3-o0 4 1 FATESRE 3-0|3-o0 4 1
(lid (L) (BR)
@ @
NS 0-3 3—-2| 3 2 I (L5 SR 0-3 0-3 2 3
UN=)) ([ ()
©) ®
fLEmE Jo-3|2-3 2 3 B H 0-3|3-o0 3 2
(1L ) UNE))
D1 @ [ 0O [zma DT @ [ 0 [za
CHl  |wmwmes| wma |mpew| fg= (B 4 GH  |wmr| ek mEw | B0 T [ AL
GE | @ | o) | BR i | s | e | BR
@ ©)
5 B 3—1|s-o0 4 1 FE T ¥ 2-3|2-3 2 3
=29 (L)
@) @)
BH 3% 1-3 2—3 2 3 N ETEES 3—2 2-3 3 2
(E1R) UL H)
©) ®
S o P 0-3|3-2 3 2 HZE 3—2|3-2 4 1
[N=)) (EHR)
® @ ® ga ® @ ® Sa
D |ormwn|owrs | mice | 5= [IE HH  Prrmesfesrs| wee | 52 |IB A
) | aim | ww | BR Gaio | G | qum | BR
©) )
i N 3—o|3-0| 4 1 B S AUIN = 2-3[3-2] 83 2
UN=)) =109,
@ @)
WIFEpE T 0-3 3—1 3 2 BT 3—2 3—o| 4 1
() (f ()
©) ®
(AANES] 0-3|1-3 2 3 fLES 2-3|0-3 2 3
(ER) (1 m)

XOBHED 1 NREE) —TAHIET S




FRAMFE) -7 [%F]

A B C D E F G H
@ BEE | EELF | PR |FOLEZER| BEEE | LB F | 2EREE | BIREE
(e 1) (= 5) (S1R) () 0=7:)9) ([ 1L1) (a) 0=7:)9)
o | A | MBI | BEL | A%ERE| EE | HMEE [EwEL TE
(SE) (i) & B) (R 1L1) (lrm) (S1R) (A B) (S1R)
o | RE |kzses| pim | BEL | KL |KBEE| AEE |[WLUREE
(& 5B5) ([ 1) ([ 1) (& 5) (SE1R) (A 5) (&I ([ 1)
A#l o | Adde [ sm E§§ & £z E#  |omes| =w | x- 5‘5? & fz
G | emo | gis | BR GEo | oum | @ | R
) @
e 3—-0|3-0 4 1 o B 3—2|83-0 4 1
([ (1) (BH
@) @
B 0-3 3—o| 3 2 LR 2—3 3—1 3 2
(5B Q=)
® ©)
v as! 0—-3|0-3 2 3 x|k 0—3|1-3 2 3
(N=)) (R
[0) @ ® =t 0] @ ® st
B#l  [wkr e | hases| 225 (B FH  |iwer| mzm (meskl 5 |IE 4
- ) | anm | ga | BR - G | g | gie | BR
R L1 3—o|3-0| 4 1 1L BGs & 1 3—0]| 3-1 4 1
UN=)) (i (L)
@) @
M- P T 0—3 3—1 3 2 HEE 0-3 1-3 2 3
(rm (EHR)
® ©)
KR&eFhss L o-3| 1-3 2 3 PNTHES 1—3 | 3-1 3 2
([t 111) (N=))
@ @ ©) A ® %) ® SHa
C#l wiak | wi | etk | fg e |IE 4 GH  [emEmg|oomn| au | 52 |IE
@i | oss) | e | BR anm | s | gamo | BR
©) @
BH A 3—-0]|38-0 4 1 EE P 3—1]|3-0 4 1
(1) > (iif=))
BSE WL 0-3 2—-3| 2 3 R | 1-3 3—-o| 3 2
UL 5) UNE))
® ©)
Wt 0—-3|3-2 3 2 =] 0—-3|o0-3 2 3
([ 111 (B 5
©) @ ® S @ @ ©) e
DMl |soosmel amsis| i | fgm |B H#  |swse| wm mowss| 29 |B
ur) | gad) | osg | T - B | e | @ [ T
FOCHE SRR 3—-0]|3-0 4 1 JSNNEEES 3—2|o0-3 3 3
(1l @) 05209 (3/5)
@) @ 3
BEERE |o-3 3—2| 3 2 A 2—3 3—1 2
([ (L) (EHR) (5/4)
ik =k 0-3|2-3 2 3 MILHES | 3—0 | 1—3 3 1
(R E) ([ L1 4/3)

XOBHED TEARE ) —TAHET S




47@é@m%a¢ x;J)iéI:kth Elﬂlilim:% EE
A%um:(zm 9)F12H20H (1)
—7J-—’77'J F(EHmRENREE)
HEEZFEEER AW Z5




